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#include <iostream>

#include <vector>

#include <set>

#include <algorithm>

#include <utility>

#include <fstream>

#include <map>

using namespace std;

int main()

{
[*ifstream cin{"INPUT.TXT");
ofstream cin("OUTUT.TXT");*/

map<int, set<string>> cost;

COSt{z] - llaa“‘, Ilaball‘ |laab"’ “abb”' ‘labaCNJ llbaca" };

cost[3] ={ "aaa", "abab", "aabb", "baaa", "abaa
cost[4] = { "abba" };

cost[5] = { "aaaa" };

string str;
cin >> str;
vector<int> arr_count;
for (inti=0; i <str.size(); ++i) {
arr_count.push_back((int)str[i]-48);
}
for (inti=0; i< str.size(); i++) {
int num = stri];
int pointer_temp =i+ 1;

while () {

"wn
’

aaba

"on
’

aaab" };

9 4p



-

}

return 0;

#tinclude <iostream>

#include <vector>

#include <set>

#include <algorithm>

#include <utility>

#include <fstream>

#include <map>

using namespace std;

int main()

{

double x1,y1, x2,y2, x3, y3, x4, y4;
cin >>x1>>y1>>x2>>y2>>x3 >>y3 >> x4 >> y4;
double al = (x1-x4) * (y2 - y1) - ((x2 - x1) * (y1 - y4));
double a2 = (x2 - x4) * (y3 - y2) - ((x3 - x2) * (y2 - y4));
double a3 = (x3 - x4) * (y1-y3)-((x1-x3) * (y3 - y4));
if (a1 >=0) && (a2 >=0) && (a3 >=0)) {

cout << "In";

return 0;
}
cout << "Qut";

return 0;

#include <iostream>

#include <vector>

#include <set>
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#include <algorithm>
#include <utility>
#include <fstream>
#include <map>
using namespace std;
bool check(vector<vector<int>>& matrix, int n, int middle) {
bool possible = false;
int ideal = (middle * middle);
for (inti=0;i<n-middle; ++i) {
for (int j=0; j < n - middle; ++j) {
intres_temp =0;
for (int iter_i = i; iter_i < (i + middle); ++iter_i) {
for (intiter_j = j; iter_j < (j + middle); ++iter_j) {

matrix[iter_i]

}

void bin_search(vector<vector<int>>& matrix, int n) {
int left_pointer = 1,
int right_pointer = n;
while(left_pointer + 1 != right_pointer){
int middle = (left_pointer + right_pointer) / 2;

if () {

}

int main()
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[*ifstream cin("INPUT.TXT");
ofstream cin("OUTUT.TXT");*/
intn;

cin>>n;

vector<vector<int>> matrix(n, vector<int>(n));

for (inti=0;i<n;i++){
string temp;
cin >> temp;
for (intj=0;j<n; ++j) {

matrix[i](j] = (temp][j] - 48);

for (inti=0;i<n;i++){
for (intj=0;j<n; j++){

cout << matrix[i][j] << " ";

}

L) [ IS
cout << '\n';

return 0;
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